

Learning to Estimate Answers

Round the numbers to the nearest 10 to estimate and answer the questions.

$$13 + 58 =$$

↓ ↓

$$\boxed{10} + \boxed{60} = \boxed{70}$$

$$36 + 67 =$$

↓ ↓

$$\boxed{} + \boxed{} = \boxed{}$$

$$93 + 26 =$$

↓ ↓

$$\boxed{} + \boxed{} = \boxed{}$$

$$41 + 38 =$$

↓ ↓

$$\boxed{} + \boxed{} = \boxed{}$$

$$55 + 44 =$$

↓ ↓

$$\boxed{} + \boxed{} = \boxed{}$$

$$69 + 23 =$$

↓ ↓

$$\boxed{} + \boxed{} = \boxed{}$$

$$82 + 17 =$$

↓ ↓

$$\boxed{} + \boxed{} = \boxed{}$$

$$33 + 58 =$$

↓ ↓

$$\boxed{} + \boxed{} = \boxed{}$$

$$49 + 16 =$$

↓ ↓

$$\boxed{} + \boxed{} = \boxed{}$$

$$67 + 29 =$$

↓ ↓

$$\boxed{} + \boxed{} = \boxed{}$$

Learning to Estimate Answers

Round the numbers to the nearest 10 to estimate and answer the questions.

$$\begin{array}{r} 82 - 29 = \\ \downarrow \quad \downarrow \\ \boxed{80} - \boxed{30} = \boxed{50} \end{array}$$

$$\begin{array}{r} 74 - 31 = \\ \downarrow \quad \downarrow \\ \boxed{} - \boxed{} = \boxed{} \end{array}$$

$$\begin{array}{r} 96 - 48 = \\ \downarrow \quad \downarrow \\ \boxed{} - \boxed{} = \boxed{} \end{array}$$

$$\begin{array}{r} 63 - 22 = \\ \downarrow \quad \downarrow \\ \boxed{} - \boxed{} = \boxed{} \end{array}$$

$$\begin{array}{r} 87 - 49 = \\ \downarrow \quad \downarrow \\ \boxed{} - \boxed{} = \boxed{} \end{array}$$

$$\begin{array}{r} 55 - 23 = \\ \downarrow \quad \downarrow \\ \boxed{} - \boxed{} = \boxed{} \end{array}$$

$$\begin{array}{r} 78 - 34 = \\ \downarrow \quad \downarrow \\ \boxed{} - \boxed{} = \boxed{} \end{array}$$

$$\begin{array}{r} 61 - 17 = \\ \downarrow \quad \downarrow \\ \boxed{} - \boxed{} = \boxed{} \end{array}$$

$$\begin{array}{r} 94 - 58 = \\ \downarrow \quad \downarrow \\ \boxed{} - \boxed{} = \boxed{} \end{array}$$

$$\begin{array}{r} 73 - 19 = \\ \downarrow \quad \downarrow \\ \boxed{} - \boxed{} = \boxed{} \end{array}$$

Learning to Estimate Answers

Round the numbers to the nearest 10 to estimate and answer the questions.

$$\begin{array}{c} 56 + 29 = \\ \downarrow \quad \downarrow \\ \boxed{60} + \boxed{30} = \boxed{90} \end{array}$$

$$\begin{array}{c} 82 - 34 = \\ \downarrow \quad \downarrow \\ \boxed{} - \boxed{} = \boxed{} \end{array}$$

$$\begin{array}{c} 43 + 48 = \\ \downarrow \quad \downarrow \\ \boxed{} + \boxed{} = \boxed{} \end{array}$$

$$\begin{array}{c} 91 + 26 = \\ \downarrow \quad \downarrow \\ \boxed{} + \boxed{} = \boxed{} \end{array}$$

$$\begin{array}{c} 49 - 38 = \\ \downarrow \quad \downarrow \\ \boxed{} - \boxed{} = \boxed{} \end{array}$$

$$\begin{array}{c} 63 + 19 = \\ \downarrow \quad \downarrow \\ \boxed{} + \boxed{} = \boxed{} \end{array}$$

$$\begin{array}{c} 87 - 41 = \\ \downarrow \quad \downarrow \\ \boxed{} - \boxed{} = \boxed{} \end{array}$$

$$\begin{array}{c} 54 - 28 = \\ \downarrow \quad \downarrow \\ \boxed{} - \boxed{} = \boxed{} \end{array}$$

$$\begin{array}{c} 46 + 39 = \\ \downarrow \quad \downarrow \\ \boxed{} + \boxed{} = \boxed{} \end{array}$$

$$\begin{array}{c} 92 - 37 = \\ \downarrow \quad \downarrow \\ \boxed{} - \boxed{} = \boxed{} \end{array}$$